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M: There’s Scott in his car. Did he take it to the garage to be fixed?

W: Don’t be silly! That would have been a waste of money.

Q: What conclusion can be drawn from the conversation?

A. Scott paid to have his garage fixed. B. Scott now works in a garage.

C. Scott wasted his money in a garage.D. Scott repaired his car himself.
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Computers will flourish because they enable us to accomplish tasks that could never before
have been undertaken.

A. implement B. render C. assign D. complete
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Does brain power ____ as we get older? Scientists now have some surprising answers.

A. decline B. descend C. deduce D. collapse
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The basic law of addition, subtraction, multiplication and division are taught to all elementary
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school students.
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Paper One
RE—

Part ] Listening Comprehension (15 minutes, 15 points)
Section A

Directions: In this section, you will hear nine short conversations between two speakers. At the

end of each conversation, a third voice will ask a question about what was said. Both the conver-

sation and the question will be spoken only once. Choose the best answer from the four choices A,
B, C and D by marking the corresponding letter on the ANSWER SHEET with a single line
through the center.

1. A
2. A
C.
3.A
B.
c
D
4. A.
C
5.A
B
C
D
6. A
C
7. A
C.
8. A.
B.

. Coffee. B. Tea. C. Something hot. D. Something cold.
. A telephone call. B. A visit from friends.
A mistake on a bill. D. A letter they have written.

. He prefers o talk another time.

He wants the woman to go away.

. He would like the woman to continue.
. He doesn’t know what to think.

Ask directions. B. Walk to the shopping center.

. Take a taxi. D. Wait for the bus.
. The motorbike is missing.

. It is a new motorbike.

. The man needs to replace the motorbike.

. The motorbike is in good condition.

. It was far the bank. B. The school was far away.
. It was far from work. D. The area was not nice.
. He is delighted. B. He is not busy.

He will accept the nomination. D. He is not interested.
He wants to ride to work with the woman.
He doesn’t mind taking the bus.




C. He likes standing on the bus.
D. He doesn’t mind the traffic.

9. A. Wait at a drugstore. B. Go to a doctor’s office.
C. Find a hospital. D. Look for some aspirin.
Section B

Directions: In this section, you will hear two short passages. At the end of each passage, you will
hear some questions. Both the passage and the question will be spoken only once. After you hear
one question, you must choose the best answer from the four choices A, B, C and D by marking
the corresponding letter on the ANSWER SHEET with a single line through the center.

Questions 10~ 12 are based on the passage you have just heard.

10. A. They need a telephone. B. They need a video player.

C. They need a radio. D. They need an E — mail address.
11. A. They should come to campus.

B. They must contact the instructors.

C. They have to mail a form to the college.

D. They can call the Community College.
12. A. By attending lectures. B. By writing letters.

C. By making video tapes. D. By using E —mail.

Questions 13 ~ 15 are based on the passage you have just heard.
13. A. Because all the students are adults.
B. Because the students have to pass open examinations.

C. Because there is no exam before they are accepted as students.
D. Because its doors are open to the society.

14. A. In the open air. B. In the open classroom.
C. On radio and TV. D. It is working now.

15. A. Materials for each course. B. Advice and suggestions.
C. A certificate for the education. D. Scholarship.

Part [ Vocabulary (15 minutes, 10 points)

Section A

Directions: In this section, there are ten sentences with one word or phrase underlined each.
Choose one of the four choices marked A, B, C, and D that best keeps the meaning of the sen-
tence. Then mark the corresponding letter on the ANSWER SHEET with a single line through

the center.
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16. The Empire Building is a(n) imposing structure in New York.

A. exciting B. outstanding C. upsetting D. surprising
17. A new boiler was installed in our building last week.

A. inspected carefully B. placed in service

C. undertaken with care D. undone casually

18. In the name of justice, all men should be equal.

A. unification B. tradition C. transmission D. fairness
19. The local government has licensed the landowners to fish these waters.

A. transformed B. transferred . C. authorized D. allocated
20. He was asked to lift his head up and pay more attention in the class.

A. raise B. rise - C. arise D. arouse
21. The two classmates maintained their friendship for the next forty years.

~A. altered B. continued C. amazed D. annoyed

22. Did you find the size of the window before buying the curtains?

A. multiply B. decide C. narrate D. measure
23. It is reported that the policemen are pursuing the bank robbers in the country.

A. appealing to B. chasing after C. applying to D. claiming for
24. Consumer groups are protesting against higher prices.

A. clothing with B. clinging to

C. complaining about D. clutching with
25. They have announced that the two failing firms have eventually merged.

A. governed B. greeted C. committed D. combined
Section B

Directions: There are ten incomplete sentences in this section. For each sentence there are four
choices marked A, B, C and D. Choose the one answer that best completes the sentence. Then
mark the corresponding letter on the ANSWER SHEET with a single line through the center.

26. His clothes were scattered about the room .
A. at random B. bit by bit C. onall accounts D. in all

27. Peter his job because his salary was too low.
A. imposed B. quit C. inclined D. healed
28. Everyone in the class knows that he is always for appointments.
A. impartial B. impatient C. punctual D. impressive

29. The of the products is very important, for it determines whether the buyers can
use them sagely.
. 10 .



A. quantity B. amount C. value D. quality
30. He couldn’t continue his business unless he asked the bank for a .
A. debt B. deficit C. loan D. lending

31. On the outer , there is a sticker, which says: Please handle with care.
A. container B. luggage C. package D. packing
32. He became with the girl reporter who questioned him at the press conference.
A. observed B. obsessed C. notified D. troubled
33. If you disagree with her, she is to get annoyed.
A. liable B. reliable C. memorable D. moral
34. It is known to all that good — mannered men will never others.
A. look for B. look back C. look down upon D. look into

35. We should stop talking about it, and it is time for

A. action B. behavior C. manner D. conduct

Part [I Reading Comprehension (50 minutes, 30 points)

Directions: There are six passages in this part. Each passage is followed by some questions or un-
finished statements. For each of them there are four choices marked A, B, C and D. You should
decide on the best choice and then mark the corresponding letter on the ANSWER SHEET with a
single line through the center.

Passage One

Few men have influenced the development of American English to the extent that Noah
Webster did. Born in West Hartford, Connecticut, in-1758, his name has become synonymous
with American dictionaries. Graduated from Yale in 1778, he was admitted to the bar in 1781
and thereafter began to practice law in Hartford. Later, when he turned to teaching, he discov-
ered how inadequate the available schoolbooks were for the children of a new and independent na-
tion. :

In response to the need for truly American textbooks, Webster published A Grammatical In-
stitute of the English Language, a three-volume work that consisted of a speller, a grammar, and
a reader. The first volume, which was generally known as The American Spelling Book, was so
popular that eventually it sold more than 80 million copies and provided him with a considerable
income for the rest of his life. While teaching, Webster began work on the Compendious Dictio-
nary of the English Language, which was published in 1806. .

In 1807 Noah Webster began his greatest work, An American Dictionary of the English Lan-
guage. In preparing the manuscript, he devoted ten years to the study of English and its relation-
ship to other languages, and seven more years to the writing itself. Published in two volumes in
1828, An American Dictionary of the English Language has become the recognized authority for
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usage in the United States. Webster’s purpose in writing was to demonstrate that the American
language was developing distinct meanings, pronunciations, and spellings from those of British
English. He is responsible for advancing simplified spelling forms: develop instead of the British
form develope ; theater and center instead of theatre and centre; color and honor instead of co-
lour and honour .

In 1840 Webster brought out a second edition of his dictionary, which included 70,000 en-
tries instead of the original 38,000. This edition has served as the basis for the many revisions

that have been produced under the Webster name.

36. Which of the following would be the best title for the passage?
A. Webster’'s Work. B. Webster’s Family.
C. Webster’s School. D. Webster’s Life.
37. Why did Webster write A Grammatical Institute of the English Language?
A. He wanted to supplement his income.
B. There were no books available after the Revolutionary War.
C. He felt that British books were not appropriate for American children.
D. The children did not know how to spell.
38. From which publication did Webster earn a lifetime income?
A. Compendious Dictionary of the English Language.
B. An American Dictionary of the English Language.
C. An American Dictionary of the English Language: Second Edition.
D. The American Spelling Book.
39. When was An American Dictionary of the English Language Published?
A. 1817. B. 1807. C. 1828. D. 1824.
40. According to the author, what was Webster’s purpose in writing An American Dictionary of
the English Language?
A. To respond to the need for new school books.
B. To demonstrate the distinct development of the English language in America.
C. To promote spelling forms based upon British models.
D. To influence the pronunciation of the English language.

Passage Two

During the nineteenth century, women in the United States organized and participated in a
large number of reform movements, including movements to reorganize the prison system, im-
prove education, ban the sale of aleohol, and most importantly, to free the slaves. Many young
women fought hard to get the right to enter the university as men did, and the right to work side

by side with male workers in a factory or a mill. Some women saw similarities in the social status
12 .




